Puzzle 9458 - Sunday, 10 August, 2014 - Difficulty 3

131 11 177 2t
518121319 |7f1)|64:
;67::‘:7 Zii:il L17(57:::1 ; ; 17 7173; = :::’;7 716 ::l ; i
93|46 112|758
— i T T
711168 |51413|2{9:
‘15:" k178i:1 Liiii: ‘ ’7’,1111,,1111’,’,‘ 3’2’:’1”1’3’111 ,,,,,,,,,,,,,
6917 4|3][2]8]|5
T s T 1 I e |
3251|6849 ]|7,
H : : ‘ 1’6’11’;’%f::::,fff:::,‘: : Zfiiijffffff,
417 (8192|563 1:
:Ib’jj’,: ’9’,::::1 i’éiii: : ;:::77176”” ;’6’:: ffffffjil’{’"
259431876
R R TR YS! P ] N R
8[43 |57 6]9]1]2
7T T o1
1]6]7]2)8|9]5|4|3

Copyright (c) www.dailykillersudoku.com




